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O 238 Jtet & HUItE S2EFESA 32,000
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O S&¥2elAE(t=0l 15,000
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206 M= Hl 2,000 ,000 0
= 1,000
< 300
Al 700
01 =8l 2,000 ,000 0
O EE =0 ¢EA 2,000
= 1,000
= 300
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401 AlEHIZL 2 0HY| 180,000 1,052,286 N 872,286
01 Al&H| 180,000 1,047,286 A\ 867,286
O A0t& HHAY 180,000
AT A THoH 0l Bt A 4,166,000 1,877,000 2,289,000
= 2,500,000
< 833,000
Al 833,000
401 Al HI L E0HHI 4,166,000 1,877,000 2,289,000
= 2,500,000
o= 833,000
Al 833,000
1 Al&H| 3,761,000 1,872,000 1,889,000
O ZZA THoHO ALY (=0HASKI) 3,761,000
= 2,500,000
< 433,000
Al 828,000
2 el dl 400,000 0 400,000
O ZZA THAHO AL (2=0cHASXI) 400,000
& 400,000
03 Al&E 201 Y| 5,000 5,000 0
O ZZA THoHO ALY (=cHASKI) 5,000
DIME St & ALY 1,350,000 4,645,378 13,295,378
= 900,000
& 300,000

_24_




2N
X ZH -
L= B

el

SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
Al 150,000
401 A& HIZL 2 0HY| 1,350,000 4,645,378 N3,295,378
= 900,000
& 300,000
Al 150,000
01 Al& H| 1,346,000 4,645,378 N 3,299,378
O 0OM&E ol&dEstd XA 1,346,000
= 900,000
< 300,000
Al 146,000
03 Al&E 201 Y| 4,000 0 4,000
O OM& old&d ZHAY 4,000
DM D& HHIAIE 1,350,000 3,283,000 A 1,933,000
= 900,000
& 300,000
Al 150,000
401 AlEHIZL 2 0HY| 1,350,000 3,283,000 A 1,933,000
= 900,000
& 300,000
Al 150,000
01 Al& H| 1,346,000 2,778,000 A 1,432,000
O DIMIE Deold ZAAY 1,346,000
= 900,000
= 300,000
Al 146,000
03 Al&E 201 Y| 4,000 5,000 A 1,000
O OM&E D& ZHAY 4,000
ANA(BLY) SANEE 108,000 100,000 8,000
= 108,000
401 AlEHIZ £ 0HY| 108,000 100,000 8,000
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